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Use multiplication rules to determine the missing remainder for each problem.

1) 94÷2 = 47 r     0      2) 84÷5 = 16 r     4      

3) 9,292÷5 = 1,858 r     2      4) 2,761÷10 = 276 r     1      

5) 6,167÷10 = 616 r     7      6) 441÷2 = 220 r     1      

7) 35÷2 = 17 r     1      8) 90÷10 = 9 r     0      

9) 76÷5 = 15 r     1      10) 24÷10 = 2 r     4      

11) 442÷2 = 221 r     0      12) 447÷10 = 44 r     7      

13) 85÷5 = 17 r     0      14) 42÷5 = 8 r     2      

15) 99÷10 = 9 r     9      16) 4,458÷2 = 2,229 r     0      

17) 45÷10 = 4 r     5      18) 6,807÷5 = 1,361 r     2      

19) 80÷5 = 16 r     0      20) 250÷10 = 25 r     0      
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